
https://www.geekcert.com/500-470.html
2024 Latest geekcert 500-470 PDF and VCE dumps Download

 

 

 

500-470Q&As

Cisco Enterprise Networks SDA, SDWAN and ISE Exam for System
Engineers

Pass Cisco 500-470 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/500-470.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

Latest 500-470 Dumps | 500-470 PDF Dumps | 500-470 Braindumps                                1 / 3

https://www.geekcert.com/500-470.html
https://www.geekcert.com/500-470.html
https://www.geekcert.com/500-470.html


https://www.geekcert.com/500-470.html
2024 Latest geekcert 500-470 PDF and VCE dumps Download

QUESTION 1

Which three technologies are used in an SD-Access Fabric? (Choose three.) 

A. MPLS 

B. TrustSec 

C. VXLAN 

D. OTV 

E. LISP 

F. RSVP 

Correct Answer: ACE 

 

QUESTION 2

Which two options are used as part of an ISE POV? (Choose two.) 

A. Youtube 

B. CiscoTV 

C. dCloud 

D. POV Kit 

E. Implementation on Production Network 

Correct Answer: CD 

Reference:https://community.cisco.com/t5/security-documents/selling-ise-demos-and-povs/ta-p/3629542 

 

QUESTION 3

Which workflow is necessary for setting up a network hierarchy? 

A. Provision 

B. Design 

C. Policy 

D. Assurance 

Correct Answer: B 
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QUESTION 4

Which two factors are used in calculating the Cisco SD WAN - 1yr, 3yr, or 5yr subscription cost? (Choose two.) 

A. Service Bandwidth 

B. Security 

C. Routing Protocol 

D. Features 

E. Hypervisor Platform 

Correct Answer: AD 

 

 

QUESTION 5

Which party solution integrates with Cisco\\'s security and network portfolios within the ISE? 

A. 25+ 3rd party solutions 

B. 20+ 3rd party solutions 

C. 30+ 3rd party solutions 

D. 45+ 3rd party solutions 

E. 60+ 3rd party solutions 

Correct Answer: E 
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